EX 14.58

Problem 19.58 In Example 19.6, we neglected the
moments of inertia of the two masses m about the axes
through their centers of mass in calculating the total
angular momentum of the person, platform, and masses.
Suppose that the moment of inertia of each mass about
the vertical axis through its center of mass is Iy =
0.001 kg-m?. If the person’s angular velocity with her
arms extended to r; = 0.6 m is w; = 1 revolution per
second, what is her angular velocity w, when she pulls
the masses inward to r, = 0.2 m? Compare your result
to the answer obtained in Example 19.6.
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